iR EER I
WHE T B - SERER

) ZID) € P =T=1

B =R REEFREN. AT Imm ARHIEESE.
(O[Zo02]s] HE
//10.02[ A i
B3 —1//]0.02]A]
T
Q) e
A 1w/ [O1_1 kO
L
- ik
R
Ala. Gl
ar
EEREER
orRS - BWmRRS - ar oh - BHERE - DEMIRS
BDTD - 6200-2Z - 30 23 - B - MTC10
[ 1]5%53 BiFEES a7 0 higEEf 1mm d H L, d, L L, S dy Dz B
606-2Z 2535 6 h+13 35 47 23 13 17 6
626-27 2535 15~ 30 h+14 37 49 25 15 19 6
608-27 2535 8 h+15 M 53 29 18 22 7
628-27 2535 h+16 44 56 32 20 24 8
6900-27 2540 15 ~ 40 h+15 M 53 29 10 19 22 6
6000-2Z 2540 10 h+17 46 5.5 58 34 22 26 8
6200-27 3040 h+19 50 62 38 24 30 9
6901-27 2540 20 ~ 40 h+16 44 56 32 21 24 6
6001-2Z 2540 12 h+18 48 60 36 24 28 8
6201-2Z 3040 h+20 52 64 40 26 32 10
6902-27 2550 20 ~ 50 h+18 48 60 36 25 28 7
6002-27 3050 15 h+20 54 68 40 28 32 9
6202-27 3550 h+22 58 72 44 29 35 1
BDTD 6903-2Z 2550 25~50 h+19 52 65 64 38 27 30 7
6003-2Z 3050 17 h+22 56 ’ 70 43 15 31 35 10
6203-27 3550 h+24 62 76 49 34 40 12
6904-27 3550 h+23 59 73 45 34 37 9
6004-27 4050 30 ~ 60 20 h+25 66 82 50 36 42 12
6204-27 4550 h+ 28 72 9 88 56 40 47 14
*6005-2Z 4060 2% 76 96 56 15 4 47 12
*6205-2Z 4560 40 ~ 80 h+31 82 102 62 45 52 15
*6006-2Z 4060 30 h+32 84 1 104 64 20 48 55 13
*6206-27 50 60 h+36 92 112 72 55 62 16
*6007-2Z 50 60 40 ~ 90 35 h+36 92 1 112 72 20 55 62 14
*6207-2Z 6070 h+44 118 13 148 88 25 64 72 17
*6008-2Z 5070 50 ~ 100 20 h+41 102 1 122 82 20 60 68 15
*6208-27 60 80 h + 50 130 13 160 100 25 74 80 18
A HAERFRARIEESIVMARRT.
A\ BEIEEHERR A2017 HET “*” HI&,
A\ F&¥ C BHBENF=R, BIHATTRERE . BNEAN, BT RMABREANRE.
[ EZpRioy): WemT
DenTxe HERNERNT TREBANT | ARRWE - HE
e | sz Owecs P SELE " i B 2
A 15t | NEH=RERE e ERTIMER C (45° ) MT
BOTD |BEEER| B l 45¢ FRRER RN e o
¢ A017_| AERREIE 2l @ e 10~20 | 10 B EREREANT gggé: %Eﬁ@
LT = 5w 12 HEARE.
% 6207-2Z., 6208-2Z HESERTF
MTC15
i) EEEAMTC10 [EEZAMTP [EERENR
www.ant-fa.com EE RO EEERERE SN 519

b 4



